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> mean(data)
[1] 3.56

> abline(v = mean(data), col = "red")
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> var(data)

[1] 2.9861

000000 0000000000 (SD = vvariance)

Histogram of data
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> sd(data)
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> sqrt(var(data))
[1] 1.7280
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> plot(y, prob, type = "b", 1lty = 2)
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| |

0.00 0.05 0.}0 0.15 0.20
°

) o

00 (\)O|3.56 000

“ Poisson distribution
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> prob <- dpois(y, lambda = 3.56) # 000000000000

> # cbind 000000
> cbind(y, prob)

prob
.02843882
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.21385056
.19032700
.13551282
.08040427
.04089132
.01819664
.00719778
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> cbind(y, prob)
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Poisson Regression, a Generalized Linear Model (GLM)
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